-

@

HEERT 745

made for garden

308




HEERT 745

made for garden

Position Part number Nazev Name
1 741000015 NGz pravy Blade right
2 S-08*40 Sroub M8x40 Bolt M8x40
3 741000015A NGz levy Blade left
4 SB-94 Matice M8 Nut M8
7 745000007 Kryt noz Blade cover
9 745000009 Zadni kryt motoru Motor rear housing
10 745000010 Predni krytka Front plastic cover
11 745000011 Pfedni kryt motoru Motor front housing
12 745000012 Hridelka Connecting shaft
13 741000099 Kfidlova matice Knob nut
14 741000083 Sroub madla M6x45 Handle bolt M6x45
15 745000015 Stfedové madlo (1ks) Middle handle (1pcs)
16 25261100102 Svorka kabelu Cable clamp
17 745000017 Spodni madlo Lower handle
18 M-06 Matice M6 Nut M6
19 715000078 Tvarova podloZka Wave washer
20 SV-06*30 Sroub spodniho madla M6x30 Lower handle bolt M6x30
21 S-06*35 Sroub M6x35 Bolt M6x35
22 745000022 Podlozka Washer
23 745000023 Poklice kola Wheel cover
24 745000024 Zavlacka 2x20 Cotter pin 2x20
25 VP-10 Velka podlozka 10 Big washer 10
26 715000079 Kolo Wheel
27 P-06 PodloZka 6 Washer 6
28 745000028 Osa kol Wheel axle
29 745000029 Aretace kola Wheel lock
33 smazat Sroub ST4x16 Screw ST4x16
100 745000100 Pfevodovka kompletni Gearbox assembly
107 715000017 Pero 6x6x16 Flat key 6x6x16
108 745000108 Ozubené kolo Gear
109 608-ZZ Lozisko 608-Z Bearing 608-Z
110 745000110 Snekova hiidel Worm shaft
111 745000111 Tésnéni pfevodovky Gearbox gasket
118 6000-Z Lozisko 6000-Z Bearing 6000-Z
200 745000200 Motor kompletni Motor assembly
117 745000117 Pouzdro Splined sleeve
211 745000211 Uhlik (par) Carbon brush (pair)
301 745000301 Spinac kompletni Switch assembly
307 745000307 Horni madlo Upper handle
308 745000308 Upinaci objimka spinace Switich fixing plate
310 741000095 Leva rukojet komletni Left grip assembly
316 741000089 Spinac Switch




ODPULLUANBbHBIN OUNEP B YKPAUHE:
storgom.ua

FrPA®UK PABOTDI:
MH. - MNT1.: ¢ 8:30 no 18:30
C6.: ¢ 09:00 no 16:00
Bc.: ¢ 10:00 no 16:00

KOHTAKTbI:

+38 (044) 360-46-77
+38 (066) 77-395-77
+38 (097) 77-236-77
+38 (093) 360-46-77

[OeTanbHoe onucaHue ToBapa: https://storgom.ua/product/kultivator-elektricheskii-hecht-745.html
Opyrune ToBapsbl: https://storgom.ua/kultivatory.html



https://storgom.ua
https://storgom.ua/product/kultivator-elektricheskii-hecht-745.html
https://storgom.ua/kultivatory.html
http://www.tcpdf.org

